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e6. Parallel lines in the same plane that never intersect
and are always the same distance apart. Line A%
is parallel to line DC'is denoted by AZ || DC ([Ad]:
370).
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are called parallel lines. Read p|| ¢ as p is parallel
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A8 ABCE L, olE V1ER
ABCS} 2ol Yehdh([Ht], [017], [H).

(5) M ¥ AB, BC, CAS} Al Z+ 2A, «B, «C
2 o]Folz 473 ABCE 7|52 AABC
ob 2ol Yehd o).

E7. (1) 3719 ABoz E¢M¢ =3L Azt
Folzta FTh(2-1]: 36).

@ A 7, v, vs AREY BAHol

&

12}

[e:

d

¢

o r&
> ol ﬂllﬂl

& o

[e)

Lo K

Uth, A% e, Lo, e
olgtar FuTh(2-1]: 37).

@) A4F e 29y go| A A 7
& o]o] Bo] HAQ([4-1]: 52).

m7. A triangle is a figure formed by three line segments

o>

that intersect only at their endpoints. Recall that
triangles are named by the letters at their vertices.
Triangle LAMN is written A LMN ([B3]: 262).

258 aAAdAE AR 2P
o opoE ANSRYAT HAY e

o &

opg 0 2 A AR A [4-11914 L )
soll et Ae glo] ARgstdth AAE o

=8 Sfele AEsA GgAw o, 1, =l

-

A4 HAHA AL & F UEF ad9
AN A wep BT At o)
MEsel @9 #eol “A44¥ ABCE AHEE
F AAT E7elAM AAE e erg ok
A &3 AR wWEel (D, 3), @), G)9F &
o] 278 ABCY 9Jv|E MEstc o] dEL
sttt 23 (D, 3), @), G)elM Al E3H
Al WS Mestd BT 9" e ()Pl
& & Aok W, m7e 474E LMNeA L,

M, No| Z3olgh= As AMEsiiith

= ABCS} DEF7} A2 3§54
), 9-&3te HAFY AR g3l Vs

& AABC=ADEF$ o] Yetd k(7).
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@) T A% ABCS DEF/F A2 35d d,
°o| A& 7]Z2 AABC=ADEF$} Zo] e}
[%

ke v (AR VA e o M = R ol R b o A e
[°171, 17D
3 7 =% Pst 7t ME FEd W,

ol A&
=]

7122 P= Q9 ol uyebduheb], [=F
g

(e}
iy
@ 7 43 ABCg‘r DEF7]' M2 3o, o

S8l ¥34o] AS} D, BS} E, C9} Fetal
3 o), ]S 7]E2 AABC=ADEF} 2
o e TH(H).

e8. Congruent figures have the same size and
shape([A3]: 408).

m8. If two polygons are congruent, then their

corresponding sides are congruent and their

corresponding angles are congruent([B3]: 279).

2
AL FEel

WA B, W, 2o ool wahe [uhge
Azgel FEol U A&e & F A4
Watel colw, N2 EAAE BAY, W, de
N2 dedtn doetn A&, b
AFAE Ego] tte] A2 FE F £
1 EAAE BRAHH BAH, WB W, 49
Ze Az dedtn dten NEdid
2eT e EEW mE 2AAel FE
QoA dgue Qoo neze Art A
2 2 Aze] ANAYAY deus o
g7te] Yge mE FEI =qo AeHe
Aol ohlmz £de] = § FAHoR A%
Holof @}, o F Sol, msL FE F 7
gol tiste] tgust tgZol 247 5ol
£ Rl AeHn

W3 g2 onE WA A&stelol @t

S9. () ¥ O el F+ H A, BE Fod, 92
T REoE Uroxed, 2 44s g
3 3t aga H A BE % 2Ho= 3
= 32 3 ABF 31, 7|52 ABY} 2]
Uehdch ol ABE Z& %9 3E e}
WA, (AE], [ [2HED.

@ 90 99 F A A BE Hom, 9& %
npoz Yo o ¥ RS 37
s 2

3 gt} o EFo] A, B £ 3 AB
a1, 7152 ABSF o] Yehdtk(z ],
[, 81, 3.

B) 90 99 F A A, Boll tisted A AdlA
A B7HAY e dRES 5 ABE 3,
7lz2 ABSH o] Yeith oY ABE
By e Zo 35 YepdTh(ER)).

@) & 999 F HE o o= = 99 ¥

e sgta o 0& £ 7801 A BY &

SHIFD
G) 9049 F A A Be 98 F REOE
el § RES 247 5 ABE 8, of
AL 7152 ABS} o] YT, [,
[0]701-]).

© 9 0 #odl + H A BE FoW ¥ F
FEoE Yo, o] F RES
38y s, 7182 AB EE BAS} o
YeRATH([o]E)).
u9. An arc is any curved line that lie on the circle.
We use two letters to denote an arc if the arc
is less than the half of the circle. However, for

larger arcs, we use three letters(Bassarear, 2001).

(O (3)2 ‘ABE e %9 3E g
o7t F12 AEEHo YoM YEvE &
A= ZAAA & F UTh (), @), ), 6O ‘&
ABE HE Zo|7l &L %9 FTE UrEhH
o7t 21 %) 3= 1 9 & A CcE
o} ACB9} Zo] Yepdth 7t 712 M&H

A F A 93] Are & FEZ

N

4>£m>4m
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Aok W P7HAR AEEHY AT

M), 2), 4, ©°1A A1 F 3 A, B= ¥

= F HEeE ‘z‘r?i 01 FRES 4 5
3

g1 gtk e ANE

T A A B o) %01 T RREOZ 1prolA|
W T A A Bt BEF &Ie & FE] &
AB7} Ho| 02 RES Fgka str)7p Hds)
A 87] witelth. mEb 2o ofwmrt st
A Yetd=s Med 2a7t o

AgRe] ALk

S10. FExAE = £=
2 %o Ad

dE 1<a<10, n 2
1) FEAERZ d 7ES Xé FEo] g A
ol F aE HA ax10" EE ax 1(1)", 9
Z2 dehdtk(d], (39,

[, 19,

[EH&], (A, [91, [, [, [e1€], (8],
[AD.

() Atgkel 03 1AFe], 1014 107"k, 10 ©]
ol 4zt ax—, a, ax10" &} Zo] Y
B (HE).

@) FETAER H FES A5 FEo] & A
g0 F a«E HAA a EE

o] 22 Jehdok(#)).

ml0. A number is expressed in scientific notation when

a

it is written as the product of a factor and a
power of 10. The factor must be greater than
or equal to 1 and less than 10([B2]: 43).

ulO. It is possible to write any decimal as a number
between 1 and 10 (including 1) times a power
of 10. This scientific notation is particularly useful
in expressing large numbers. For example,
6321 =6.321<10° and 760,000,000 = 7.6 x 10°
760,000,000 = 7.6 X 10° (Musser,
Peterson, 2003).

Burger, and

mlo

ssharh (4E] (&
2t

t}. 3H ml0, ulo>
A=

L (9], A, (017, [o1€], [(B1=

S1l. =32 e I £8vih e & B9 =AY
o] A& Ho et
Ell. 33 04795 34798 2231 Abd A2

Ztal YFUTh(-1]: 111).

mll. A decimal 1.666...
Read 0.5=0.555...
63, 64).

is called a repeating decimal.

as point five repeating([B3]:

7155 Y olaletr] HaMe B8 V1S
& glojol gtk wHME 24159 2
o & A AA A kAL
A gt ol #sto] [Hrg1e] A-f-olwt
415 =8ty Aderz glethet
3 Aoz AASFALE mlle &S
9] #3uit 9o HE& AA
YEF 3L “point five repeating’ &2 &
-

@A EBLSE 92

A

Fsich. 8 9o W
YHow ¢@vitE gedd

At daHow £@asE PE Ad W
Mol ANAA @] W] S -
gastel o TR Ushis Ae ok
o 2eg «BL5E 904 Zae R0 A%
$49 ofels MEoldw 84 AaF
AN AL oA e Adste o



SI2. (1) 0RG 49+F & = +4=F, 0XT 5
nE e e -52 Ugdg. o)A
+45 ‘ZH2 4, —55 ‘wloly X 508
A=th(d], (24 [(338], 9], M),
(A1 [, 7], &1 78], [#D.

Q) +55 ¥ 5, —4F ‘F9 172

D).
el2. (1) The numbers *134 and ~80 are integers. You

fr

o}

4o

read "134 as ‘positive one hundred thirty-four’
and 80 as ‘negative eighty’([AS]: 480).

(2) Integers include all whole numbers and their
opposites. The opposite of positive 8(78) is
negative 8("8). The opposite of 0 is 0 ([A6]: 628).

ml2. The integer +5 is read positive five or five.

The integer —2 is read negative two([B1]: 294).

L5 EYE 4
‘mlolvz ekl ¢lar, [Hhtle +5E
‘F 50, —4F o 2R o ok a2y
[17H3 [olF]S ol9Al H=A AASHA &
gt 2™ (291 +6, 225 747 E
2 6, wpoly 2 272 ¢l Aol skl 4, -

t 47 g, WA Jss mge gAw
1 e vEox AFRYT [T tash
0’ 47 EG2 09 vhluz 02 g
A 4B G, —a'E BT @B 9
A% @oha A w8 [(DF], [T
(4, 1% gl RE, o

o
B
N

9 FEehal ‘wpoli 2
G getn e Assa

¢ el2e 7|9t B3 7S RS
=24 ARSI, mI2E ‘+5°F ‘positive 5’
TE ‘5°F, ‘—2°F ‘negative 2°F 3L AT

Musser, Burger, and Peterson(2003)2 ‘—’& T
I 2ol Al 7}A] ou|E FEE}S ¢lojof gt}
I A H s

First, the symbol ‘— 7’ is read ‘negative 7’ (negative

means ‘less than zero’). Second, since it also represent

the opposite or additive inverse of 7, ‘=7’ can be
read as ‘the opposite of 7’ or ‘the additive inverse
of 7°. In general, the symbol ‘—a’ should be read
‘the opposite of a’ or ‘the additive inverse of a’.
It is confusing to children to call it ‘negative a’ since
—a may be positive, zero, or negative, depending of
the value of a. Third, ‘a—b" is usually read ‘a minus

b’ to indicate subtraction.

mEhA, 2-(=3)=5"%
three is equal to five.’$} Zo] Al =of ‘wj7]
o} 5o R3] AolE olaetA Hrth (Y]
ol ‘+6, —2°F Ztz} ‘Felx 6, "ol 272t

‘two minus negative

=4
2 gz o9 w2 02
27 o s 2 9k ) WER HE AL

7)
AorgEo] o)A 7)E2 3o

2 dFdME ngAdA 71825 ¢ o]3
5 A AMzste A BHES wF . T
vHetd & de AC B,
=B | |, = 1/m, AABC, =, AB,
So2dh, @9 REMH), 89 ¥BO)E
THoE =3t dFEe] 7se

=
) A&ede il olsid = UA MEH

TARE g,

ax10",

A

AA™ mAANO we} 75 AAe] Mzold
Nset BdE Ygol BIeA @AY A=
g2/ ANE Al Ge oes mw
Aol we} A5 ARe] Mzoly Assh B

o il
g W&ol A= bg2A AAE 78, «8LF
24159} o] 7] ouE olaF =

oA deA AANHA Fe 7,

)
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WA wHAe g As Ao Aol
Assh BAd Yao Az g2 ANE §
F3 gAste] Yehd EAYNS BAg Ase
g3 o

AR, 7zet pAR ol waAel wat

Aol A2 g2A Aed AL corel
A Ueigth mEkbd 71t #EE yes g
A olsf FEF wgHHe] Wl At
oot AR S AMIA FEI MeT
Za7t AUtk

=4, 715 AA Q] Med #dste 7|57t
MeE oo ARgTEA] ot flol= ol
g A7gol e AMse] F7HE AAH 7S
olgfst=dl  FAAz e AbE7H
‘Ac B, A=B, z’°A JEyth wela 24
A - Sl AREHA e 715 F7HEQL
Aed Ang dark i

AR, 715 ZAA S Aed #Hstq Me =
Aol R AU W] AMeEA got 7ISE
A olFfsted RAA=HL AHEIZE 1/ m,
AABC, AB*5olA Uelstth el 759 ¢
HE olglsted dagh vz A dgh
Mes HAsHA AT Hart ok

A, 713 AN&Es dubs, A3, AgF o
2 et AAEA Fot 7IE AA Y A=
g V1ot #hE yE&S HEsHA olsated
HAeA F2 AHIZE 1L =, =, ax10n,

o} wast Uepdt. gaky sse)

= o
= EJI 1

EBLFE YA Yolof A UF Wt

5 o~
A e AL £FAFE YA &Y

40 ol o N
T S e

patk

o

fr
g
2
i)
%
ri
lo,
N
<)
ko
ol
A

%o

vpAEo 2w wet 7|55 tEA ¢
T A AAE g I, o
2= gAHo = WA 7509l RS
o M&sr)le o"HAN aAe 438FQ on)
7 g2te dde] AgEo] e 75 ¢
olai g 4 UA AAHojoF 3
T w3

2e WA R 75E s 7 UA A

i olsie

X

1:—] )\41

Hofo} e},

AT W SgelN AAFE HEFS
DAY W, wHAo) weh e EE G2
g olsld & Al Heda, 752 @ 7}

Ao)4 =99k T Fahol wero] vhao]
oF @tk olo] i@ 4AA were] st @
B wiA By AR B 29 Fa
of mwapr] AAEo] FlEe] A&l B Ha
W BF A4S M £ Q=S Wiy
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Symbol Statements in Middle School Mathematics Textbooks: How
to Read and Understand Them?

Paek, Dae Hyun (Busan National University of Education)

Mathematical symbols concisely represent mathe-
matical contents related to terms by describing their
mathematical meanings implicitly. All symbols in
elementary school mathematics textbooks are stated
as to be read so that elementary school students could
understand their mathematical meanings. The same is

somewhat true as in middle school mathematics

* Key Words

Yi, Jinhee (Korea Science Academy of KAIST)

textbooks, however it is often the case that some
symbols are difficult to be read and understood because
their statements are unclear or different. In this study,
we analyze problems and suggest implications on
teaching and learning mathematics based on the
statements and understanding of reading symbols in

middle school mathematics textbooks.

: mathematical symbols(5=8} 7] %), mathematics textbooks(5=8 L3}A])
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